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ALY 0.0060 1/1.300
5| 0.0030 1/45.000
fiEs Wﬁ’& 0.0200 1/0.051
%I i I— 0.086 0.711
W020 FESEY | 0.0040 1/1.200
?Vrﬁum 0.0320 1/0.042
s rﬂwf’? 0.0040 1/1.200
S . 1/9.000
| ’7+ S 1/23.000
£l gl F [,%,%ﬂ 0.0050 -
Mﬁi Rl 0.0030 115
W021 ﬁu@%rﬂ*]ﬁ - -
w Bﬁﬁ*‘ﬁ(&%ﬁff&w [AHUEFD] 00500 | 1/0.042 | o
SR 0.0030 115 '
[ Mwﬁ? 0.012 1/0.26
o] AR 0.090 1/23.88
TrErS| 0.012 1/0.17
Pl - 1/9.000
NP - 1/23.000
Uil g:}ﬂ 0.0050 -
}Pﬁ SR - -
W022 MH% M’ﬂ 0.0030 1/1.5
B A LA Jﬁ‘/fglmﬁwﬁ ¥l 0.050 1/0.042 0.682
= = VG ER0.0030 1/1.50
R éﬁﬁé}‘?ﬁiiw 0.1500 1/14
T APHEE 0.0150 1/1.50
I3 — 1/9.000
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#4-25 iR IUREEF Ui ()

B dx [ BV RR | S Ak
Hae | Bk s et - B [m] lkx | Ui=1R
[m.K/W] |[W/(K)]
A - 1/23.000
ToRErEERl 0.0200 | 1/3.500
SO-RPEEl0.0050 | 1/1.500
w023 fﬁﬂ’p“ﬂ% 0.0100 | 1/1.500 | 3.520
i RC| 0.1500 | 1/1.400
APAEEEEl 00100 | 1/1.500
HEE 1/9.000
TR - 1/23.000
A 00300 | 1/3.50
PTEEEL 0.0300 | 1/1.500
W024 PRJE 01500 | /1400 | %
E APAEEEEL 0.0100 | 1/1.500
: W — 1/9.000
PAETL 4| B 1/23.000
TRt 0.0180 | 1/3.500
PTEEEL 0.0150 | 1/1.500
W025 PRE 01500 | /1400 | %
] FPIFREEl 00100 | 1/1.500
HEE 1/9.000
FAE L | I 1/23.000
TRl 00240 | 1/3.500
EEl J— 0.086
w026 RC| 01500 | 11400 | 27
\ 72 APEREE 0.0100 | 1/1.500
> HERE! 1/9.000
w027 B 7k — 1/23.000
(% L 7 %jﬂ 0.0100 | 1/0.78
1 - { EE Y [— 0.155
Tl B il A 00100 | 1078 | S0
D) — f% 1% 1/9.000
FAE L | I 1/23.000
- 7+ SOCM I'J - 0.5000 | 1/1.050
o AT MRS 00200 | 170.190
W028 | SEESAE 4%t 00100 | 1/0.110 | ) sy
SIOVE I 00150 | /1500 |
W RC| 0.1500 | 1/1.400
NN PUEREE 0.0100 | 1/1.500
HEE 1/9.000
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O dx |BVEFEE kx| EVEESk
Ui ~R [m] [m.K/W] Ui=LR
[W/(1t.K)]
It 3R 1/23.000
PU 0.0020 1/0.050
P ETpL A 0.1000 1/0.800
e} by 0.0015 1/45.000 0.916
& RO01 E A [5) 0.0250 1/0.051 :
R RE (S W 0.010 1/0.040
[ > PS 19)
WERE 1/7.000
It 3L 1/23.000
PU 0.0020 1/0.050
P T 0.1000 1/0.800
by 0.0015 1/45.000
R0O02 AR 0.0200 1/0.051
}Jf‘?%* 0.086 0.940
62 regAs 00150 1/0.064
HEE 1/7.000
It S84 1/23.000
MBI 0.0015 1/0.19
FINRE (S 0.0750 1/0.037
FIJ#E > PS #9)
£ iy ] 0.0023 1/45.000
?l%ﬁ'ﬁ FHF 0.0030 1/0.051 0.308
R003 P ST CE ] > A St 1/0.78
=20cm)
S| 00120 1/0.064
HEZA 1/7.000
H It 3T 1/23.000
v i S 0.0015 1/0.19
YRR AR 0.050 1/0.037
F{[&E > PS #9)
SR 0.1000 1/ 1.500
RO04 iyt 0.0015 1/45.000 0.379
’f[fﬁ&ﬁ‘@'}'ﬁ 0.003 1/0.051
&S CE ] - & et 1/0.78
=20cm)
s 0.012 1/0.0640
HEZE 1/7.000
It 3035 1/23.000
Y2 T TR pLEt 0.1500 1/0.170
i e = e 0.0100 1/0.110
RO05 - SRRl 0.1500 1/ 1.400 0.785
é ; IR 0.0100 1/1.500
* B % 1/7.000
It 3R 1/23.000
I IECREASPU)| 0.0020 1/0.050
TR e 0.1000 1/0.170
= B 0.0100 1/0.110 0.750
B 1 R006 SRR e 0.1500 1/ 1.400 :
& 5% et 0.086
4 PP gts) 00150 1/0.064
ez 1/7.000
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2432 P15 PREES Ui Gl

B dx B R x| BV
W | A T A [m] [m.K/W] Ui=1R
[W/(ri K)]
It KL 1/23.000
VRIS 0.0200 1/ 1.500
= PRI ED 0.0300 1/0.040
Ll w i;jﬁﬁiz%j 0.0700 1/0.800
@‘gj — - 8| 0.0100 1/0.110 0.795
| ROO7 ?/ o /// e / Mu’ﬁﬁﬁ{* 0.0200 1/1.500
= o LSS SRR 0.1500 1/ 1.400
B .. S //Z PR 0.0150 1/ 1.500
‘ W] 1/7.000
It IR 1/23.0
Hi PU|  0.002 1/0.05
WHREEES [ 0.1000 1/0.17
FPLREE 00150 1/1.50
* SRS 0.075 1/1.40
sl 0001 1/45.0 0.976
R0O08 &5t 0.086
1 il 0.001 1/45.0
MRS | 0.075 1/1.40
AVl 0010 1/1.50
(e REZE! 1/7.00
EIRE 1/23.000
FEs[ 0.0500 1/ 1.000
P 5Tl > H 5 0.4600
<20 cm)
% | RO09 = B 0.0100 1/0.11 0712
SATEEES | 0.1500 1/1.400 :
A "N“Wf 0.0150 1/ 1.500
R CR(EHE 00200 1/0.040
R FJEE > PS 45)
R 1/7.000
It 5L 1/23.000
FEs [ 0.0500 1/ 1.000
ALC F 5T g > H 5 0.4600
"+<20 cm)
| ROI0 B 0.0100 1/0.11 0.530
ALCH5|  0.1000 1/0.170 :
A "N“Wf 0.0150 1/ 1.500
PRI CA(EHE 00200 1/0.040
R FJEE > PS 45)
R 1/7.000
EIRE 1/23.000
o ?@? A 00500 1/0.110
il == B[ 0.0100 1/0.110
= EGERERS| 0.0400 1/0.220 0.964
| ROll %’ﬁﬂ‘wf 0.0100 1/ 1.500 :
1 SREpLEE 0.1500 1/ 1.400
= 7Nﬂ’ﬁ'ﬁ£f%}% 0.0150 1/ 1.500
4 [ 3R 1/7.000
It KL 1/23.000
7 SR, S| 0.0050 1/45
£ 40~100cm 2 5 0.7800
o 7Nﬂ’ﬁ'ﬁfj{‘ 0.0150 1/ 1.500 0914
| ROI2 SRS 0.1500 1/ 1.400
i % AN/, 7 FPREEL 0.0150 1/1.500
i 2 i J;?»%Z 1/7.000
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%433 "5 PRI Ui Gi)

B dx | AP REE | AVESESR
g | Ak Bos o~ R [m] 1/kx Ui =1R
mKW] | [Wiik)]
B - 1/23.0
7 B 1SS 0.005 1/45
| = B 0.0100 | 1/0.110
# | ROI3 YRR SR ([t (pUF]I| 0.0400 1/0.040 0.783
5 & > PS 5y A TTRERER
TYPE C Bt
A WESEA 1/7.00
DR 1/23.0
7 SRS | 0,033 1/45
| ? [l 005 1/0.042
ot S| 0.003 1/45 0.726
5 | RO14 C Ak
TYPE Js?nﬁa 1/7.00
B
B - 1/23.000
- S - M 00030 | 1/0.050
PU UL 2500psi [ Ik pEES | 0.0500 | 1/ 1.400
= ; TERE [M f5 (PUFY) | 00250 | 1/0.028 0.769
5 | ROIS o : . AVLFEE0.0200 | 1/1.400 '
£ / ‘ GPRELEES | 01500 | 1/1.500
H y : APEEEEL 00150 | 1/1.400
e 1/7.000
1% HRBY 1/23.000
£ 2500psi I'] FHfHEE+ | 0.0500 | 1/1.400
i — TTPRELBOEPST (PUAS) | 00250 | 1/0.028
}i)\g M USSR PU OOOSO 1/0050
| rots fot / S APLRAE 00150 | 1/1.500 0745
o L)/ / / SAREEES | 0.1500 1/ 1.400
] “ ) APdEEEL 00150 | 1/1.500
= i 1/7.000
NP - 1/23.000
i e— Frfd0.0100 | 1/1.300
oo zgaﬁ% 0.0050 | 1/1.500
P . . YrkipEES | 01000 | 1/0.170
i / A VBT B4 00100 | 1/0.110 0.998
- | ROI7 P ) ASPFREE 00200 | 1/1.400
£ w .S SRS | 01500 | 1/1.500
H APEEl 00150 | 1/1.400
WERE! 1/7.000
B - 1/23.000
B+ SSCM )| 05500 | 1/1.050
£ 2R TR REEPS 00200 | 170190
H VB 82 0.0100 | 1/0.110 0.97]
% | ROI8 FPLRE 0.0150 | 1/1.500 '
B, SFTENEES | 01500 | 1/1.400
FPdEEEl 00100 | 1/1.500
e 1/7.000
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A5l BV LHEEF 0 (FEE)

e oo M B mm [fRLA SRR (%) i i

1 - P5 5 9 0.84
e P6 6 9 0.82
% P8 8 9 0.80
| SR P10 10 8 0.78
” P12 12 8 0.75
[ P16 16 7 0.71
G P19 19 7 0.67
BS 5 10 0.68

B6 6 9 0.65

B BS 8 8 0.59

B10 10 8 0.55

, BI12 12 7 0.51
f;z A5 5 6 0.61
A A6 6 6 0.57
A T & A8 8 5 0.50
B A10 10 5 0.45
~ Al2 12 4 0.40
e Cs 5 5 0.67
ol C6 6 5 0.62
e Rl C8 8 5 0.56
& C10 10 5 0.51
N C12 12 5 0.46
G5 5 8 0.60

G6 6 7 0.57

Bl G8 8 7 0.52

G10 10 7 0.47

GP12 12 6 0.44

Al SLES 6 6 9 0.62
£ e SLE S8 3 9 0.60
i SLESI0 10 9 0.57
(% SLESI2 12 9 0.54
il SLEG 6 6 7 0.42
i ¥ B SLEG 8 8 7 0.39
g SLEG10 10 7 0.37
S SLEG12 12 7 0.36
5 SLEB 6 6 7 0.46
e VAT SLEB 8 8 7 0.41
F SLEBI0 10 7 0.39
© SLEBI2 12 7 0.37
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H50 HBYLHBEF L B (FEIE) G

o FEOFE K B mm [[PPOAYHEF R (D) pi (il
o OLRS5 5 42 0.49
AU | s o OLRS6 6 40 0.48
£ OLRSS 8 38 0.48
%j;\ OLRS10 10 36 0.47
o, OLRC5 5 20 0.47
4F LIRS B OLRC6 6 18 0.45
= OLRCS 8 16 0.42
fo OLRC10 10 14 0.40
3 OLRG5 5 33 0.38
d A A OLRG6 6 31 0.36
5 OLRGS 8 28 0.34
?; OLRG10 10 25 0.33
5 OLRB5 5 23 0.41
< B~ OLRB6 6 20 0.40
OLRBS 8 18 0.35
OLRB10 10 16 0.33
OLRAS 5 18 0.45
T S OLRA6 6 16 0.43
OLRAS 8 13 0.42
OLRA10 10 11 0.40
FLRS 6 6 37 0.25
fij FAGIEEIER FLRS 8 8 36 0.25
- FLRS10 10 35 0.25
oy FLRC6 6 20 0.27
iy R il FLRCS 8 20 0.27
4F FLRC10 10 19 0.27
i FLRG 6 6 28 0.26
A A A FLRG 8 8 24 0.26
~ FLRGI10 10 20 0.25
= FLRB 6 6 27 0.22
= Frren ™ FLRB 8 8 26 0.22
g FLRB10 10 25 0.22
5 FLRBS6 6 17 0.26
< Jigaen e o, FLRBSS 8 14 0.25
FLRBS10 10 11 0.25
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#0053 BATALHEEF 1 (7
T % mm T BLA S 515 Rvi (%) 7
: | PLGS 5+ pvb+5 11 0.77
i ; PLG 6 6+pvb +6 10 0.73
% ! PLG 8 8+pvb +8 9 0.70
il PLG10 10+pvb +10 8 0.67
N CLG 5 C5+pvb +5 7 0.62
s i CLG 6 C64+pvb +6 6 0.56
P CLG 8 C8+pvb +8 5 0.48
| . GLG 5 G5+pvb +5 7 0.57
~ & GLG 6 G6+pvb +6 7 0.53
L GLG 8 G8+pvb +8 7 048
, BLG 5 BS+pvb +5 7 0.58
# O E | Bcs B6+pvb +6 6 0.53
BLG 8 BS+pvb +8 5 0.47
. B OLLGSS OLS5+pvb +5 36 0.53
§ | @ | OLLGSS OLS6+pvb +6 36 0.50
s bl OLLGSS OLS8+pvb +8 36 0.45
5t N OLLGS10 OLS10+pvb +10 36 0.41
Z OLLGC 5 OLC5+pvb +5 17 0.45
i # OLLGC 6 OLC6+pvb +6 14 0.42
# v OL LGC8 OLC8+pvb +8 11 0.39
- OLLGC10 OLC10+pvb +10 8 0.34
= OLLGGS OLG5+pvb +5 30 0.39
5 FY OLLGG6 OLG6+pvb +6 28 0.37
- & OLLGGS OLG8+pvb +8 25 0.36
§. OLLGG10 OLG10+pvb +10 23 0.35
S OLLGBS OLB5+pvb +5 21 0.42
o = | OLLGB6 OLB6+pvb +6 18 0.39
2 v OLLGBS OLB8+pvb +8 14 0.36
e OLLGBI10 OLB10+pvb +10 11 0.33
s | FLLGSS FLSS+pvb +5 37 0.24
oy F%EJL FLLGS6 FLSG+pvb +6 36 0.23
> 25 FLLGSS FLS8+pvb +8 36 0.23
q% - FLLGS10 FLS104pvb +10 35 0.22
~ FLLGC5 FLC5+pvb +5 27 0.19
i % FLLGC6 FLC6+pvb +6 26 0.19
4| ol FLLGCS FLC8+pvb +8 26 0.19
e FLLGCI0 FLC10+pvb +10 25 0.18
= FLLGGS5 FLGS+pvb +5 30 0.25
g e FLLGG6 FLG6+pvb +6 28 0.24
= | FLLGGS FLG8+pvb +8 24 0.23
é, FLLGG10 FLG10+pvb +10 2 0.22
a3 FLLGBS FLBS+pvb +5 28 0.19
o 2 FLLGB6 FLB6+pvb +6 27 0.19
2 &l FLLGBS FLBS+pvb +8 26 0.19
b FLLGBIO FLB10+pvb +10 26 0.18
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Ho5-4 ARV PSEEEEF 1 (SO A
Ao oE M B mm | BB Y HE Rvi (D) ni
- DP5 S+AIr+5 15 0.75
DP6 6+AIr+6 14 0.73
] DP8 8+Air+8 14 0.70
S DP10 10+Air+10 14 0.68
| P PIAIE S | 5-10+AIr T 18 045

H DPS i +5~10
S FTEPAE | S~10+Air+F LR 23 0.27
Aﬂrg‘ﬁ E DPAS FFF 12 +5~10

. DC5 C5+Air+5 10 0.64
> | ® DC6 C6+Air+6 9 0.60
(S DC8 C8+AIr+8 8 0.55
i DC10 C10+Air+10 7 0.50
= DGS G5+Air+5 13 0.50
TS DG6 G6+Air+6 12 0.47
o DG8 G8+Air+8 11 0.41
~ DGO G10+Air+10 10 0.36
DB5 B5+Air+5 9 0.52
ol i DB6 BO+AIr+6 8 0.48
S DBS B8+Air+8 7 0.41
et DBI10 B10+Air+10 7 0.36
He DAS5 AS5+Air+5 8 0.51
| DA6 A6+Air+6 7 0.47
~ | DAS A8+Air+8 6 0.40
DA10 A10+Air+10 5 0.36
FE BP 14 0.61
5 | B BC 7 0.45
| BG 10 0.32
T B BB 7 0.32
Gl BA 5 0.32
B OLDRS 5 ORS5+Air+5 4 0.41
Eﬁ OLDRS 6 ORS6+Air+6 41 0.40
~ sl OLDRS 8 ORS8+Air+8 38 0.39
) OLDRS10 ORS10+Air+10 36 0.38
: 5 OLDRC 5 ORC5+Air+5 14 0.37
Cosel| o m OLDRC 6 ORC6+AIr+6 12 0.32
£~ | OLDRCS ORC8+Air+8 10 0.30
= H OLDRCI0 | ORCI0+Air+10 9 0.28
2 # OLDRG § ORGS+AIr+5 Iy) 0.31
& H OLDRG 6 ORG6+AIr+6 38 0.28
ol OLDRG 8 ORG8+AIr+8 32 0.25
OLDRG10 ORG10+Air+10 26 0.23
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OLDRB 5
OLDRB 6
OLDRB 8
OLDRBI0

ORB5+AIr+5

ORB6+AIr+6

ORB8+AIr+8
ORBI10+Air+10

22
20
18
16

0.32
0.29
0.25
0.23
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# 55 ?ﬁé?‘r‘:];[/ sk g

() G

o oE [ BB mm | PLA S FTER Rl (%) ni
i "’|  FLDRSS5 FRS5+Air+5 37 0.18
oy % FLDRS 6 FRS6+AIr+6 37 0.18
i~ 21| FLDRS 38 FRS8+Air+8 36 0.18
el | FLDRSI0 FRS10+Air+10 36 0.18
= FLDRC5 FRC5+Air+5 18 0.18
& #|  FLDRC6 FRC6+Air+6 18 0.18
;if “I|  FLDRCS FRCS+Air+8 18 0.17
S FLDRC10 FRC10+Air+10 18 0.17
e FLDRGS5 FRG5+Air+5 28 0.18
5 #|  TFLDRG6 FRGG+AIr+6 28 0.18
o “I|  FLDRGS FRG8+Air+8 28 0.17
3 FLDRG10 FRG10+Air+10 28 0.17
53 FLDRBS FRB5+Air+5 17 0.18
“?a | FLDRBG6 FRB6+Air+6 17 0.18
= “I| " FLDRBS FRB8+Air+8 17 0.17
< FLDRB10 FRB10+Air+10 17 0.17
B 7 OLEP6 OLE6+Air+6 12 0.53
SEL ] OLEPS OLE8+Air+8 12 0.52
c OLEG6 OLG6+AIir+6 10 0.33
fm &) OLEG8 OLG8+Air+8 9 0.29
= p-{  OLEBG OLB6+Air+6 10 0.36
’jf:] & OLEBS OLG8+Air+8 9 0.33

HEEL6 SLE6+Air+6 15 0.57

5] EEAL6 DLE6+Air+6 12 0.46

i H1EL8 SLE8+Air+8 8 0.54

B 258 DLES+Air+8 8 0.40
A $#1E5LG6 SLEG6+Air+6 8 0.39
S | 98106 DLEGSAIr+8 10 033
o Il HEALGS SLEG 8+Air+8 7 0.34
3 25 G8 DLEG8+Air+8 10 0.30
A HI14LB6 SLEB6+Air+6 6 0.26
- SHALB6 DLEBS+Air+8 8 0.29

“Il 0 H1EALBS SLEB8+Air+8 6 0.32

SHALBR DLEB8+AIr+8 8 0.25

f

=kh1LF [Eﬁﬁi{ﬁ'ﬁ? n 1 EEVE R EF R R R SC(Shading Coefficent)fit
AP D L SRR SC o I FIL 91 50 E VTN 1.0 ok B B
EHF'J‘ZE} o [HIF=7 i 725% SC fififiv 0.88 [#

Tl e SCRLI] 3mm

25E| ST Y B oy B S e R Bl A R D B PR R e R L A

H:FLE I;T{ o

3 B ’JJT’?@?%&@%%J‘}ﬁ'{r%ﬁf"{fy 10mm 7 R ZESER 1V p i [RH [V FARFRE PC

(ploycarbonte ) V| A5 5 124 [AH %"f—{%f?y/ B R A 10mm i S5
104+AIr+10mm [REGLZE 1 5§ [RB |1 o

4 ST RE TR D] 10+Air+10mm U STHBEATRARIT 5 -
5.2 1A IV F AR > TR ERy iR FFEM%’?E'@%{? ek
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A6 TSRS VIR R ki
% 6-1 GT BB IST (T8 ki o (T )

” :Jj N [NNE| NE [ENE| E [ESE| SE [SSE | S [SSW [ SW [WSW[ W [WNW|NW [NNW

F 0051 093 | 094 | 092 [ 093 | 094 [ 093 | 092 [ 092 | 091 092 | 092 | 093 [ 094 | 093 | 092 [ 094
0.1 088 [ 090 | 087 | 0.89 [ 0.91 088 | 0.86 | 086 | 0.85 | 086 [ 0.86 | 0.88 | 091 [ 0.89 | 0.87 | 0.90

. 0.15 [ 078 | 078 | 0.77 | 079 | 081 078 | 077 | 074 | 068 | 074 [ 077 | 0.78 | 081 [ 0.79 | 0.77 | 0.78
- 0.2 0.71 071 | 070 [ 073 | 074 | 072 | 070 | 0.64 | 055 | 0.64 | 070 | 0.72 | 074 | 0.73 [ 071 | 0.71
0.25 | 071 069 | 067 [ 070 | 069 | 0.68 [ 0.66 | 0.60 | 0.51 060 | 066 | 068 [ 069 | 070 | 0.67 [ 0.69

0.3 0.70 | 0.67 [ 0.65 | 0.67 | 066 [ 064 | 062 | 057 | 049 | 057 [ 062 | 0.64 | 066 [ 0.67 | 0.65 | 0.67

i’ﬁ 0.4 0.68 | 0.65 [ 061 | 062 | 0.61 059 | 055 | 051 [ 044 | 051 055 | 059 | 061 [ 062 | 061 [ 0.64
0.5 068 | 0.64 [ 058 | 057 | 056 [ 054 | 050 | 047 [ 041 047 | 050 | 055 [ 056 | 057 | 058 | 0.63

0.6 067 | 063 [ 056 | 055 | 053 | 050 | 047 | 044 | 038 | 044 [ 047 | 051 | 053 [ 055 | 0.56 [ 0.61

IKEI 0.7 067 | 063 [ 054 | 052 | 049 | 047 | 043 | 042 | 036 | 042 | 043 | 047 | 049 [ 052 | 0.55 [ 0.61
0.8 067 | 062 [ 053 | 050 | 047 [ 044 | 041 | 041 035 | 041 0.41 045 | 047 | 0.51 0.54 | 0.60

0.9 067 [ 062 | 052 | 048 | 045 | 042 [ 039 | 039 | 033 | 039 | 039 [ 043 | 045 | 048 | 053 | 0.60

1.0 067 | 061 [ 052 | 047 | 043 | 040 | 038 | 039 | 032 | 038 | 038 | 041 | 043 [ 047 | 052 | 0.59

ﬁ 1.2 0.67 | 0.61 [ 051 046 | 041 039 | 037 | 038 [ 031 037 | 037 | 039 | 041 | 046 [ 051 | 0.59
1.4 066 | 061 [ 050 | 045 | 040 | 038 | 036 | 037 | 030 | 036 | 036 | 038 | 040 [ 045 | 050 | 0.59

1.6 066 | 060 [ 050 | 044 | 039 [ 037 | 035 | 036 | 029 | 035 | 035 | 037 | 039 [ 044 | 050 | 0.58

1.8 066 | 060 [ 049 | 043 | 038 [ 036 | 034 | 035 | 028 | 035 | 034 | 036 | 038 [ 043 | 049 | 0.58

2.0 065 | 059 [ 048 | 043 | 037 | 035 | 033 | 034 | 027 | 034 [ 033 | 035 | 037 [ 043 | 048 | 0.57

f— ==
. —
" LI
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%62 SHIBEET G ki R (=)
| jj N |NNE| NE | ENE E ESE | SE | SSE S SSW | SW |[WSW| W [WNW| NW |[NNW
- 0.05 0.77 0.80 0.88 0.92 0.95 0.95 0.93 0.90 0.92 0.90 0.93 0.95 0.95 0.92 0.88 0.80
0.1 0.47 0.56 0.77 0.86 0.92 0.92 0.88 0.81 0.84 0.81 0.88 0.92 0.92 0.86 0.77 0.58
EI 0.15 0.32 0.47 0.68 0.82 0.89 0.89 0.85 0.72 0.76 0.72 0.85 0.89 0.89 0.82 0.68 0.49
0.2 0.24 0.41 0.61 0.79 0.86 0.87 0.82 0.66 0.70 0.66 0.82 0.87 0.86 0.79 0.61 0.44
0.25 0.22 0.38 0.56 0.75 0.84 0.85 0.79 0.62 0.67 0.62 0.79 0.85 0.84 0.75 0.56 0.39
N 0.3 0.21 0.35 0.53 0.72 0.82 0.83 0.76 0.60 0.64 0.60 0.76 0.83 0.82 0.72 0.53 0.36
T 0.4 0.19 0.30 0.46 0.67 0.79 0.80 0.71 0.55 0.59 0.55 0.71 0.80 0.79 0.66 0.46 0.31
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